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Question Number : 1 Question Id : 7935232801 Display Question Number : Yes Is Question
Mandatory : No

A zener diode acts as p-n junction diode. It can be also used as

B0 BO3G p-n 808 & BRI DATDOE. HAA FeT §rew®
GO3rN0TIITN)).

Options:

1. half-wave rectifier

HE0 BS BEDOHE
1, %
2. full-wave rectifier
0-35 BEDONE
2.

3. AC voltage regulator

AC 3G AoHo|b80

4. DC voltage regulator

DC o5 25 Ao 8o



Question Number : 2 Question Id : 7935232802 Display Question Number : Yes Is Question
Mandatory : No

Which one of the following statements 1s not true for zener diode?

2096 H33rE & $0220500 08 ae3eS AE N30 5°C?
Options :

1. No simularity between the forward characteristic curve of a diode and
zener diode

BO3rG SOOI BIO BTG AIE), 650 5258185 $65 65

@“ﬁ?gjgeﬁ S
1.4
2. Zener diode has sharp breakdown voltage
238 BTG HDENTS VTS S G5 EOR &06H
2. %
3. Heavily doped diode
2O (39 36
3. %
4. Reverse biased diode
B0 ) AT B3
4, %

Question Number : 3 Question Id : 7935232803 Display Question Number : Yes Is Question
Mandatory : No

The DC load line of an amplifier circuit as

OSPORDONE HEFY, 565 BE) DC S& B

Options :



1. Positive slope
TPDETO 3ICN

1%
2. Curvature
N Eed
2. ¢
3. No Q-pomt
Q- OO0 BN
3. %
4. Negative slope
(DEBETE TN
4, %

Question Number : 4 Question Id : 7935232804 Display Question Number : Yes Is Question
Mandatory : No

The FET device1s a
FET O8G0 @903 8,8

Options :

1. Current-controlled device

. 00 AOLOBDed HOES0
2. Voltage-controlled device
. S G5 AAHOBOH HOEBO

3. %



3. Both current and voltage-controlled device

EB0OES DO o 625 A0SO HOEKO DO

4. Neither current nor voltage controlled device

$006 B o GBS AOHOSHS HOZE0 50

Question Number : 5 Question Id : 7935232805 Display Question Number : Yes Is Question
Mandatory : No

The high mput impedance of FET amplifier 1s due to
FET A3r0aa)0h0 38y @968 2008 300X B SEL0T 06

Options:

1. pimch —off voltage

DO -8 oY SIS

2. Very low gate current
- 27> 53070 1D EBOES
3. The source and drain being apart
- S50 SDOAN TN DT EGOBEIO

4. The geometry of the FET
FET G30%) 23°so0ed



Question Number : 6 Question Id : 7935232806 Display Question Number : Yes Is Question
Mandatory : No

Infrared LED 1s usually fabricated from
Q" )0& LED ~rr@eaom™ B0 edairty DoHaGo0?

Options :
1. Ge
1. %
2. Si1
2
3. GaAs
3. %
4. GaAsP
4.

Question Number : 7 Question Id : 7935232807 Display Question Number : Yes Is Question
Mandatory : No

A gate with only one mput and one output is

2,8 2,8 2ONE DO 2,8 @9HEHE &S) TeEd

Options :

1. an OR gate

OR &

2. aNOT gate
5 NOT 13¢5



3. aNAND gate

; NAND 13¢5
4. an AND gate
AND 73¢5
4, %

Question Number : 8 Question Id : 7935232808 Display Question Number : Yes Is Question
Mandatory : No

RAM and ROM are
RAM 080G ROM @90

Options :

1. Charge coupled devices used i computers

Z05°5606S &HTBrAoD w70 EHO HBETTe

1. %
2. Computer memories
. S0oY”5CI0 2TTDTCN
2.
3. Logic gates
€225 TEY
3. %

4. Binary counters used in computers

Z05y5e206S &HTrA0T B Toerdd



Question Number : 9 Question Id : 7935232809 Display Question Number : Yes Is Question
Mandatory : No

Ultraviolet light 1s used for erasing which memory in a computer?

405575056 &) 0B TOVI0DEAE BVOS ared SO
G 03rH0I2CDER0E?

Options :

1. RAM
1. %

2. EEPROM
2. %

3. EPROM
3.¢
.« 4 ROM

Question Number : 10 Question Id : 7935232810 Display Question Number : Yes Is Question
Mandatory : No

P

The series and parallel resonance on L-C circut' differs in that

L-C 58756565 202 s0B05M Dedr0ES (D 53 D3¢

Options :
1.4



. Sertes resistance needs a low-resistance source for sharp rise m current

0SS DR DEHAO §o DB ABGEBE e ABKS
ATO0 OO0

2. Sertes resonance needs a high-resistance source for sharp mcrease m current
$80656S D EMHA §30 DB (9B 8 908 AFSE Kirero
900
2. %

3. Parallel resonance needs a low-resistance source for a sharp merease m impedance

F0RBAS S DN 0 AT0BS (HBAINE S8y
NEAE Sre0 895360

4. Parallel resonance needs a low-tesistance source for a sharp rise in line current

B $0086" HAZS NGO F0 Nrodd (HBONE B8y
NOEE 0 B0

Question Number : 11 Question Id : 7935232811 Display Question Number : Yes Is Question
Mandatory : No

. The power factor at resonance in R-L-C parallel circuit 1s
R-L-C 370658 8556565 (2963695 836 38 2680
Options :

1. Zero
QD)



2. 0.08 lagging
0.08 308208 500
3. 0.8 leading
0.8 O&0H
3. %
4. Unity
83§§£5>
4.+

Question Number : 12 Question Id : 7935232812 Display Question Number : Yes Is Question
Mandatory : No

-Ohm 1s unit of all of the following except

Ohm @0 & 806 a7¢3 DX DA 90638 No20AOW LTI

Options:

1. Inductive reactance

DOBE 103§

2. Capacitive reactance

S35 BAFES)
2. ®
3. Resistance
DB
3.

4.



4. Capacitance

BrtI®)

Question Number : 13 Question Id : 7935232813 Display Question Number : Yes Is Question
Mandatory : No

Kirchhoff’s law 1s not applicable to circuits with
80715 Q0D §E0E TS EORS o SEF) 5% 00

Options:

1. Lumped parameters
0 T T RN

2. Passive elements

Q2 A3°¢% 28 @903 e

3. Diastributed parameters

BONDES TR
3.

4. Non-linear resistances

T°S-ODHE DESsEen

Question Number : 14 Question Id : 7935232814 Display Question Number : Yes Is Question
Mandatory : No



Application of Norton’s theorem to a circuit yield

DB 56 ODDGE TP D050 BNE), LINTAD
Options :

1. Equvalent current source only

QAT FDOE I°O

1.4
2. Equivalent current source and impedance m parallel
Qe $DOE) &FO ) DO BONTBN,) Ir0SO0T
2. %
3. Equivalent impedance

QAT RO DT

3. %
4. Equivalent voltage source
DITFSDS 3 S5 S0

4. %

Question Number : 15 Question Id : 7935232815 Display Question Number : Yes Is Question
Mandatory : No

Kirchhoff s current law states that
80° ) (2065 QAN BET T 08

Options :

1. Net current flow at the junction 1s positive

208 99 VG §BOE (DFETO DETOOM G0N0



2. Hebraic sum of the currents meeting at the junction 1s zero

20886 O (a3 T BONT N0 e

2. ¥
3. No current can leave the junction without some current entering it
2080 M0 §Foes D0 (H3930t%0E° o) §B0E
L OOIHD
4. Total sum of currents meeting at the junction is zero
. 2085 £ EBoEO IS0 DY

Question Number : 16 Question Id : 7935232816 Display Question Number : Yes Is Question
Mandatory : No

. An 1deal voltage source should have

€3¢537:9065530 S G5 0 & EOA &oEd?

Options :

1. Large value of em.f.

e.m.f A3NFY DD e,
1, %
2. Small value of e.m.f.
em.f A308) W) deN.
2. #

3. Zero source resistance

28 53 DOV



4. Infinite source resistance
295050 srred AT HEeh

Question Number : 17 Question Id : 7935232817 Display Question Number : Yes Is Question
Mandatory : No

To which of the following 1s the superposition theorem applicable?
806 3 N0 PBAS DT00 T HOD0E?

Options :

1. Voltage

NG
1, %
2. Current
$B06
2. S
3. Power
35
3. W
4. All the above
D)
4,

Question Number : 18 Question Id : 7935232818 Display Question Number : Yes Is Question
Mandatory : No



. Correct form of ohms law

Ohms ANV TZNEY DB B0
Options :

1. FVR

2. Val
2. %

Ld

V=IR

4. )& (3)
4.

Question Number : 19 Question Id : 7935232819 Display Question Number : Yes Is Question
Mandatory : No

A transistor has how many doped regions

SIS D) B DoTOTEN Eam) ON

Options :

1. 1
1. %

P
2. ®

3. 3

3.¢



4. 4

Question Number : 20 Question Id : 7935232820 Display Question Number : Yes Is Question
Mandatory : No

A full wave rectifier requires following minimum number of diodes.

379 G018 OZ)0838 5908 ) BTG © Dows.?
Options :

Fad

2.4

3.2

4.6

Question Number : 21 Question Id : 7935232821 Display Question Number : Yes Is Question
Mandatory : No

The expression of current in R-C circuit 1s?
R-C OE7),5656S £B0ES By, 55385627
Options:

1. 1=(V/R)exp(t/RC)

1. %



2. 1=(V/R)exp(-t/RC)

2. ¢

3. =(V/R)-exp(t/RC)
3. %

4. 1=(V/R)-exp(-t/RC)
4, %

Question Number : 22 Question Id : 7935232822 Display Question Number : Yes Is Question
Mandatory : No

A zener diode has

2,€ 2208 %36 A S0IE

Options :

1. 1 p—n junction

lp—naﬁéﬁ
1.4
2.2 p—n junctions
2 p—n 2308~
2. %
3. 3 p—n junctions
3p—n %Oé@
3. %

4. 4 p —n junctions
4p—n2308.cD



Question Number : 23 Question Id : 7935232823 Display Question Number : Yes Is Question
Mandatory : No

A JFET 1s also called as......... transistor
258 IFET 00 «ccccess TR0 @ S0 @0erSd
Options :

1. Unipolar

- DEERD
2. Bipolar
RRATONN'
2. %

3. Polar junction

HRD 2083
3. 3
4. None of the above
) D) 5%
4. %

Question Number : 24 Question Id : 7935232824 Display Question Number : Yes Is Question
Mandatory : No

CAMOSFET g ..o terminals
MOSFET 65 ... EASYINIORRETVIAYON
Options :

1. &



5, %
2. %
3. 4
3. %
4. 3
4. &

Question Number : 25 Question Id : 7935232825 Display Question Number : Yes Is Question
Mandatory : No

. ST has lowest noise level

............ 50 580200 FD0 PPN GOENOE
Options :

1. Triode
1. % (Al

2. Ordmary transistor

3 QTR IND
2. ®
3. Tetrode
. DETE

4.+



4. JFET
JEET

Question Number : 26 Question Id : 7935232826 Display Question Number : Yes Is Question
Mandatory : No

LLDR’s are also called..............
EORERY. Sorca® @906

Options:

1. Photo voltaic cell

S o3 €FONS DO

2. Photo resistive cell

S ABHE S

3. Photo emissive cell

S DAMVS DO

4. All the above
29

Question Number : 27 Question Id : 7935232827 Display Question Number : Yes Is Question
Mandatory : No



P 1s a type of photo detector, which can convert optical signals into electrical
signals

............. 936 28 65 ¥ G0, 20 e A Ood Jo 8O
O 3 e

Options :

1. PIN diode
DR CBO3Ir&

1.4

2. Awvalanche diode

. TS0 Gae
3. Zener diode
) 200 CO3rGs
3.
4. Schottky diode
.. ), 63 536

Question Number : 28 Question Id : 7935232828 Display Question Number : Yes Is Question
Mandatory : No

SMPS 1s used for
SMPS B §00 DB FROLI0DE00

Options:

1. switch from one source to another source

2,8 0720 OGS NETE re 08 rdodk



2. the storage of dc power

dc DadD O &

3. obtaming controlled dc power supply

QON0BOeS dec DN BTN OO

3.¥

4. obtaming controlled ac power supply

QONO0BOES AC DS AODT® OO

Question Number : 29 Question Id

Mandatory : No

: 7935232829 Display Question Number : Yes Is Question

. The maximum efficiency of full wave rectification is a

70 8 DOEH0 ABNEY, K50R TN S0?

Options :
1. 40.6%

2. 100%

3. 81.2%

4. 85.6%

Question Number : 30 Question Id

: 7935232830 Display Question Number : Yes Is Question



Mandatory : No

Which rectifier requires four diodes?

2 D DONEL Trenth BA3r&en e95HB0?

Options :

1. half-wave voltage doubler

KO0 VS S S5 BEIOD
1. %
2. full-wave voltage doubler
I"0-3 & G5 BE0s)
2. %
3. full-wave bridge circuit
FPO-330 OB DB 56D
3.¢
4. voltage quadrupler
S G5 55|60
4. %

Question Number : 31 Question Id : 7935232831 Display Question Number : Yes Is Question
Mandatory : No

How many bits are needed to store one BCD digit?

2,8 BCD @03 QO £ DONTRE D)) 230 953807

Options :

1.2 bits
2208



2. 4 bats

. 4 0
3. 3 bits
32)8)
3. %
4.1 bat
1208
4. %

Question Number : 32 Question Id : 7935232832 Display Question Number : Yes Is Question
Mandatory : No

Which of these sets of logic gates are known as universal gates?

& 5606 xS AOS DO P8 (SO o STeNTT 2NN

Options :
- 1. XOR, NAND, OR
2. OR,NOT, XOR
2. #
3. NOR, NAND. XNOR
3. %

4. NOR, NAND

4.+



Question Number : 33 Question Id : 7935232833 Display Question Number : Yes Is Question
Mandatory : No

A K-map (Kamaugh map) 1s an abstract form of which diagram organized as a squares
atri

K- o) (%) o) 9900 0,500 08 AG5ar00e ) Dart o
) At o

Options :

1. Block diagram

23°8 D) €50

2. Cycle diagram

080 B |50
2. &
3. Square diagram
2 5O B €50
3. %
4. Venn diagram
B[R DD 50
4.9

Question Number : 34 Question Id : 7935232834 Display Question Number : Yes Is Question
Mandatory : No



Which of the figures shown below represents the exclusive-NOR. gate?

AN TN F25020 A (HBLETN- NOR HEQ SrdeNos?

T > > 1>

d.

Options :

1. a
1. %

2. b
2. ¢

3. 0
3. %

4. d
4, ®

Question Number : 35 Question Id : 7935232835 Display Question Number : Yes Is Question
Mandatory : No

Which of the following logic expressions represents the logic diagram shown?

&2 1800 €725 I8 DATEN PR P25 CrAEPN) 2O DT 0W?

L

A_

Options :

1. X=AB +AB
1, %



[ ]
¥
I
e
|
.|.
&

b
¥
I
=
ey
+
V=i
wl]

4,&4' X=AB +AB

Question Number : 36 Question Id : 7935232836 Display Question Number : Yes Is Question
Mandatory : No

Which of the following combinations cannot be combined into K-map groups?

806 a7¢365 &) ¥ 015N K- 55D (1) ent 00 Ba50?

Options:
1.Corners in the same row
T
2,3 DA reren
1. %
2.Comers in the same column
2,2 oSS rerew
2. %
3.Diagonal corners
28 reewn
3.¢
4.0Overlapping combinations
o ]
eesarfod Seronsen
4, % B

Question Number : 37 Question Id : 7935232837 Display Question Number : Yes Is Question
Mandatory : No



Which gate 1s best used as a basic comparator?

PGNE FOEM o) TE G BoDOM GOO3N0LICR0E?

Options :

1. NOR
1. %

2.0R
2. %

3. Exclusive-OR
DB ES0S-0R
3.¢

4. AND

Question Number : 38 Question Id : 7935232838 Display Question Number : Yes Is Question

Mandatory : No

Which of the following expressions is in the product-of-sums form?

§0H o J:Jg%éém@_n &e5 8. TNTO SrHNoey dr) on?

Options:
1. (4+B)}C+D)
1.4
2. (4B)(CD)
2. %
3. ABACD)
3. %

4, %



4. AB(CD)

Question Number : 39 Question Id : 7935232839 Display Question Number : Yes Is Question
Mandatory : No

A decoder can be used as ademultiplexers by

AFBE& 500 TS0 DENBENT SOTINOISID

2L

e

Options :

1. tying all enable pins LOW
@) DR2ND DI HE0Y ST JONGO

1. %
2. tying all data-select lines LOW
Q) TEFP-D0TNED] DOZEID 580231 A0
2. ®
3. tying all data-select lines HIGH
Q) BEFP-D0TVHD) DOV DBV}, S &80
3. %
4. using the mput lines for data selection and an enable line for data mput
T 08 §'H0 2RDE BR®OD HOAD Ter WY& TR0
y v DB2DO BN 5N 0

Question Number : 40 Question Id : 7935232840 Display Question Number : Yes Is Question
Mandatory : No

The T FF is called
T FF & 2s00er&n?

Options :
1.4



1. toggle flip-flop
DD-FDD EHS TAHod

2. delay thp-tlop
SN0 DD-T°D
2. % '
3. trigger flip-flop
13055 )R-
3. % i T

4. none of the above

2 ) 5%

Question Number : 41 Question Id : 7935232841 Display Question Number : Yes Is Question
Mandatory : No

One example of the use of an S-R flip-flop 1s as
S-R 2-0"2) €530 T30EY 2.8 ST S

Options :

1. Transition pulse generator

- DBI0N DD ) 23306

2. R:acer
> % Ob
3. Switch denouncer
VLD BT )6
3.¢

4. Astable oscillator
NN D L.2BEE



Question Number : 42 Question Id : 7935232842 Display Question Number : Yes Is Question
Mandatory : No

How many types of sequential circuits are’
5 : o ~
DB LA DET) LD D) Bseen?

Options :
1 | J5

23
2. ®

3.4
3. %

4.5
4. ®

Question Number : 43 Question Id : 7935232843 Display Question Number : Yes Is Question
Mandatory : No

The sequential circuit 15 also called

DELAONS DEFYLE Q) & DO e e

Options:

1. Flip-tlop
DD-2TD

2. Latch

> W



3. Strobe

&S

4. Adder
B0

Question Number : 44 Question Id : 7935232844 Display Question Number : Yes Is Question
Mandatory : No

In S-R flip-flop. if Q = 0 the output is said to be
S-R DR-0 . Q=000 e9:)¢3a)¢ 2 D0N T2 0E?

Options :
1. Set
1 % D
2. Reset
B¢
5 & : 035

3. Previous state
20000 DE3 ed

3. %
4. Current state
- E)\ oy
(a0d)ed wed
4, % )

Question Number : 45 Question Id : 7935232845 Display Question Number : Yes Is Question
Mandatory : No



What 1s a trigger pulse?

1340 DS ) @0T) DaeE3?

Options :

1. A pulse that starts a cycle of operation

. S3IBAS DEQY, BFPE050T DS
1.

2. A pulse that reverses the cyele of operation

SITVAD DR BT D)

3. A pulse that prevents a cycle of operation

SHTAS BER), AFTHOT HS)
3. %

4. A pulse that enhances a cycle of operation
e300 AM WISR) NOT DD
4, %

Question Number : 46 Question Id : 7935232846 Display Question Number : Yes Is Question
Mandatory : No

In sequential circuits the output states depends upon

DTN DTS 9:9¢353¢7 Ve BAD eGNE S0Lran?

Options :

1. past input states

45 @038 W)

1. %

2. present input states
ILEJ@P‘_‘{-J Qo) ﬁf‘,@}f‘:’jﬁj
2. %

3. present and past mput

Lo DS 58D e B )ES



4. None of the above
2 ado) Sag)

Question Number : 47 Question Id : 7935232847 Display Question Number : Yes Is Question
Mandatory : No

D flip-flop 1s used as
D g;}ﬁj-@""g} A €8 DT o003 N0 T2 00

Options :

1. Differentiator
1. % C?aé{:@ 0e3aHo

2. Divider circuat

, % QR0 DEF)
3. Delay switch
28OS0 W 5D
4. All of these
4% 2 50

Question Number : 48 Question Id : 7935232848 Display Question Number : Yes Is Question
Mandatory : No

What is the difference between a ring shift counter and a Johnson shift counter?
&N ) T0e0 HOAW &Y N T0D s BE 1EI?

Options :



1. There 1s no difference

S SN

It

A ning 1s faster

- BON RO SoeNoA

3. The feedback 1s reversed

DG2rE 5356) TADDA0H
3.v

4. The Johnson is faster
4 % 275 HHOTP &OA

Question Number : 49 Question Id : 7935232849 Display Question Number

: Yes Is Question
Mandatory : No

nt

What is the preset condition for a ring shift counter?
BOf 2P TS FHO (5E HOVE DWe3?
Options :

1. all FFssettol
e)) FFen 1 8 DE Toha@ o

[

all FFs cleared to 0
5 % e®) FF e 0 § SaH8 Tah @ ow

3. asingle 0, therest 1

3 % 2,30, WAOID 1

4. asingle 1, the rest 0

2,3 1. ADBD 0



Question Number : 50 Question Id : 7935232850 Display Question Number : Yes Is Question
Mandatory : No

Which 1s not characteristic of a shift register?

2% 0290 By ©E L0 IO 5°CN?
Options :

1. Sernal in/parallel in
L BN BR/OIT0SHBEOMT B

[

Serial in/parallel out

NOCHS BS/DSTOSE 96965

Parallel in/serial out
DATOSHBOMT QS /DOANSD €95H¢5

fad

4. Parallel in/parallel out
QDATOSEOMT AR /0SSO €96)Ed

Question Number : 51 Question Id : 7935232851 Display Question Number : Yes Is Question
Mandatory : No

Computers operate on data internally in a format
5053750 B e0SQeSor SrTmES S BerD HATr oW
Options :

1. Tristate

3RS



-

2. Umiversal

. 0@
3. Parallel
eEsvilel:Telelnk
3. ¢
4. serial
4 NOANS

Question Number : 52 Question Id : 7935232852 Display Question Number : Yes Is Question
Mandatory : No

How much storage capacity does each stage 1n a shift register represent?

2% 023RBE (08 OF A0S AL § FRNTIAY ATPDNOH?

Options :
1. One bit
2.8 208
1.4
2. Two bits
5 % SOtk 2)&)

3. Four bits
e D6 )

4. Eight bits
DDA D

Question Number : 53 Question Id : 7935232853 Display Question Number : Yes Is Question
Mandatory : No



The contents of memory into blocks of the same size is called as
DO §0B0E O 2,3 HOSTROS'Q BPEIT GOBER) DH0EPH?
Options:

1. ROM
1. %

2. EPROM
2. %

3. EEPROM

4. All the above
DIV
4.

Question Number : 54 Question Id : 7935232854 Display Question Number : Yes Is Question
Mandatory : No

CD-ROM refers to
CD-ROM TR Qe 0?

Options:

1. Floppy disk
2 R

2. Compact Disk-Read Only Memory
O BL-06 2,0 F0d

2. ¥

3. Compressed Disk-Read Only Memory
L0 &NL-05 LR o0



4. Compressed Disk- Random Access Memory
E0[R G- 00 OSTSIYR 000

Question Number : 55 Question Id : 7935232855 Display Question Number : Yes Is Question
Mandatory : No

Secondary memory is also known as

0E050 F00O & DS BT DN
Options :

1. Registers

LAy

e 023

2. Mam Memory

105 b

2. %

3. RAM
3. %

4. Both registers and main memory
522952 DO (D D DO

4.+

Question Number : 56 Question Id : 7935232856 Display Question Number : Yes Is Question
Mandatory : No

An example of sequential access memory 1s

AT LVONO AZ IV O GrsrGea



Options :

1. Floppy disk

DD Y
1. %
2. Hard disk
IO GO
2. %

3. Magnetic tape memory

35571 €35 oD 0380

3.¢

4. RAM

Question Number : 57 Question Id : 7935232857 Display Question Number : Yes Is Question
Mandatory : No

The data stored in a group of bits is called

DE Y D0 QO § OB TETD Dev0rdy?

Options :
1. Nibble
Lk QYO
2. Word
DA
2.9
3. Byte
236

[ | SR



4. Address
(79 ]0% TONPe b

Question Number : 58 Question Id : 7935232858 Display Question Number : Yes Is Question
Mandatory : No

. The full form of EPROM is
EPROM G308} o0 S0
Options :

1. Easy Programmable Read Only Memory
&8 |02 BE 8,0 Dosnd

1%
2. Erasable Programmable Read Only Memory
V20O (T2 O 2,0 O

2. ¢

3. Eradicate Programmable Read Only Memory
DEF235 (020 B 8,0 Tosnd

3. %
4. Easy Programmable Read Out Memory
) &3228 | 20O BE @5)¢d O
4, -

Question Number : 59 Question Id : 7935232859 Display Question Number : Yes Is Question
Mandatory : No



Which of the following is a non-volatile memory?

808 ¢3S DO @VESH B eNd?
Options :

1. RAM

1. %

2. DRAM
2. %

3. EEPROM
3.¢¥

4. SRAM

Question Number : 60 Question Id : 7935232860 Display Question Number : Yes Is Question
Mandatory : No

The use of negative feedback

10e355°0> 922 AITA)), ErdDTN0CI0

Options :

1. reduces the voltage gain of an Op-amp

Op-amp TB0EY, &S B25 €723 DO

1. %
2. makes the Op-amp oscillate
Op-amp S0 DO

2. %

3. makes linear operation possible

DEY @8ATVAR P §oNY RO E

3. %



4. answers (1) and (2)

QoG (1) DO (2)
4,

Question Number : 61 Question Id : 7935232861 Display Question Number : Yes Is Question
Mandatory : No

. The Op-amp can amplify
Op-amp DR DNOOTINE?

Options :

1. a.c. signals only
D DOTETEN 377 ha)

1. %

2. d.c. signals only
, &2 SOBEe A7 Hodd

3. both a.c. and d.c. signals
a.c. SNOA &4.2. HoTBeren DOk
4. neither d.c. nor a.c. signals
& BE® D). OB DO S°CD

4. %

Question Number : 62 Question Id : 7935232862 Display Question Number : Yes Is Question
Mandatory : No



Determine the output of the following circuits

B0 DE58 €959 AQon0H0dB

Options :

1. 180° in phase with mput signal

2DIE DEIOS 180 °SF S’

1. %

2. 1807 out of phase with input signal
208 VEYOS 180 ° JenD©

2. &

3. same as that of the mput signal

QA DN O SS3

4. output signal cannot be determined

€958 DKL AN

Question Number : 63 Question Id : 7935232863 Display Question Number : Yes Is Question

Mandatory : No

An 1deal op-amp requires mfinite bandwidth because

33050 op-amp §) 90 273080 €0 JOHE0TY?

Options :
1. Signals can be amplified without attenuation
2819 ) § 268 BEHOE® DABOTISHTD)

1.¢

2. Output common-mode noise voltage 1s zero

©95)E35)E TNS-I G FDO & S5 H)



3. Output voltage occurs simultaneously with mput voltage changes

9596085 B AT ST STEOS &0 0SNG

3. %

4. Output can drive infinite number of device

4 % 296)E)E] @90 NDOETR)) D3NN

Question Number : 64 Question Id : 7935232864 Display Question Number : Yes Is Question
Mandatory : No

Which factor determines the output voltage of an op-amp?

op-amp T3NE) ©5HEHE & S5 o) €050 AQOVNOE?

Options:

1. Positive saturation

AR VRNV DOEd yodeh
2. Negative saturation
. 19e335°€> DO yded
2. -
3. Both positive and negative saturation voltage
Lo Ero Hoakn (DBETE) OB Y o 25 DO

4. Supply voltage
DEDT ST



Question Number : 65 Question Id : 7935232865 Display Question Number : Yes Is Question
Mandatory : No

An OP Amp consists of .......... terminals
280PAmMp .......... BID20D ) §DA G50ENOE?
Options :
- 1.3
> % 2.4
3.2

3. %

4.5
4.+

Question Number : 66 Question Id : 7935232866 Display Question Number : Yes Is Question
Mandatory : No

In which filter the output and wnput voltages are equal n amplitude for all frequencies?
2 D066 ©9:9E5:9¢5 O BN S Seden ey Fredeyrsen §ao
TS DSFIOT G0EFON?

Options :

1. All-pass filter

e3O-7°R DD
1.

2. High pass filter
S T DO



3. Low pass filter

580200 2’ DO
3, %
4. All of the mentioned
DT @y
4, %

Question Number : 67 Question Id : 7935232867 Display Question Number : Yes Is Question
Mandatory : No

The primary use for Gray code 1s

10 §°G @Body (7P E A3 io

Options :

1. Coded representation of a shaft’s mechanical position

2T ) ASFO(3E 0 TN, §TE (e AH$0

1.4
2. Turning on/off software switches
PP R0 D FOD e8/e35) TWANCO
2. %

3. To represent the correct ASCII code to indicate the angular position of a shaft
on rotating machinery

@07 ODO[@ 2 DB ASCH §BA Art)otdEns
2FQ) 0308} Se3D PR 0T Cheky

3. %

4, ®



4. To convert the angular position of a shaft on rotating machinery into
hexadecimal code

07 OHOE ) P T3y T3 ForRy o3 )R8
TEIBADO §&

Question Number : 68 Question Id : 7935232868 Display Question Number : Yes Is Question
Mandatory : No

Convert binary number into gray code: 10010
23358 Sowsed |1 §&mr 5528, )0%: 10010

Options :

1.101101

2.001110

3.110111
3.¢

4.111001

Question Number : 69 Question Id : 7935232869 Display Question Number : Yes Is Question
Mandatory : No

How many mputs will a decimal-to-BCD encoder have?

303 0 BCD DS HOH) D) D)D) &0raN?

Options :



1.4

2
o0

4.16

Question Number : 70 Question Id : 7935232870 Display Question Number : Yes Is Question
Mandatory : No

A decimal counter has ........ states

2.8 DT84 0D .o - DO DA GOO

Options:

Question Number : 71 Question Id : 7935232871 Display Question Number : Yes Is Question
Mandatory : No



. Synchronous counter is a type of

OE'HR T0oerd IO  $807?

Options :

1. SSI counters
. x  SSIS0&%

2. LSI counters

LSIZ 0D
2. % i

3. MSI counters
.o MSIS0o&®

4. VLSI counters
VLSI §F0e)D

Question Number : 72 Question Id : 7935232872 Display Question Number : Yes Is Question
Mandatory : No

The parallel outputs of a counter circuit represent the
T00 8156 TE) DITr0dS @)Y en AR QIFDPON
Options:

1. Parallel data word
D088 TBET HAO

2. Clock frequency
55 (9585002



3. Counter modulus

3% SO0 DO

4. Clock count
sv 60560 Kead

Question Number : 73 Question Id : 7935232873 Display Question Number : Yes Is Question
Mandatory : No

What 1s a digital-to-analog converter?

522)D-60-095e70 5508 90T Dade3?

Options:

1. It stores digital data on the computer

26 053756565 GRS BEFD DO DROE

1. %
2. It converts alternating current (AC) into direct current (DC)

. 30 00300 $TOE (AC) A BB DO (DC) T IO
3. It converts electrical power mto mechanical power

. 28 DB F8D 5038 45 SN0

4. Tt takes the digital data from an audio CD and converts it to a useful form.

30 SART CD 008 GRS BERH TR AN GITrisEDS
570068 SFE06.

4.



Question Number : 74 Question Id : 7935232874 Display Question Number : Yes Is Question
Mandatory : No

In the toggle mode. a JK flip-flop has
TS B, IK D070 B0 Db 0D?

Options :
1.7=0,K=1
1. %
2l =111
2.
5.d=0. K=l
3. %
L« 4I=LK=0

Question Number : 75 Question Id : 7935232875 Display Question Number : Yes Is Question
Mandatory : No

Which of the given logic family provides minimum power dissipation

0N €725 Sen0208 DO AN DS IHBOFA) BOON0E?

Options:

1. JFET
1. %

2. ECL
®

3. CMOS



4 TTL

Question Number : 76 Question Id : 7935232876 Display Question Number : Yes Is Question
Mandatory : No

- What 1s the main function of the filter 1n a rectifier circuit?

D806 HET ST DOB Ty, (D5 DO Aed?

Options :

1. Maximize AC mput variations

e ACASHE DA 5O 10RE000R

2. To suppress odd harmonics.

2 T8 ) @D FONEVE.

3. Remove ripples from the rectified output.

DOTON @6YE)E HOG 9> SHA0I0G.

3.
4. Mimimuize DC mput and AC output variations.
DC 98 20O AC @))€ INTeD A0LI0G.
4, %

Question Number : 77 Question Id : 7935232877 Display Question Number : Yes Is Question
Mandatory : No

UP-DOWN counter 1s also known as
UP-DOWN S°0€35 &2 D0 80053 23200 D



Options :

1. Dual counter

550855 T 0ed
1. %
2. Mult1 counter
, 2230 30O
3. Multimode counter
2O Toerd
3.¢¥
4. Two counter
Dot T0ed
4, %

Question Number : 78 Question Id : 7935232878 Display Question Number : Yes Is Question
Mandatory : No

A counter circuit is usually constructed of

2,8 T00 & 56 OO e Q020120B0E?
Options :

1. A number of latches connected 1n cascade form

55058 EPN0EY EDN0T0IEN 9DE er TR

2. A number of NAND gates connected 1n cascade form
2.6 ET06 ©9eDN0TTR0IDES 9% NAND FeD

3.¥



3. A number of flip-flops connected in cascade

52520586 T8 TOHDGS T DR-TDEN

4. A number of NOR gates connected in cascade form
SR8 BTN @N0TR0IDGN @FE NOR HeED

Question Number : 79 Question Id : 7935232879 Display Question Number : Yes Is Question
Mandatory : No

. How many clock pulses will be required to completely load serially a 5-bit shift register?

OO 3-8 2 02965 aBr SG TAHEAE IR T5 IO

9230007
Options :
1.2
1. %
,u 2:B
3 % 3.4
4.5
4.¢

Question Number : 80 Question Id : 7935232880 Display Question Number : Yes Is Question
Mandatory : No

Asynchronous circuit 1s also called ........ circuit

DS DEFYEED ...... DEFY 565 @) S @0ErEd?



Options :

1. Combinational
| % gerons

2. Selt-timed

- 50D DD
3. Clock circuit
5°8 A §€0
3. %
4. Delayed
eSS0
4, %

Question Number : 81 Question Id : 7935232881 Display Question Number : Yes Is Question
Mandatory : No

When 1s 1t important to use a three-state buffer?

S°C- DY 2D ErITZTH0LICH0 o) )C HSVWSO?

Options :

1. When two or more outputs are connected to the same mput

B0 B @030 W30 @e)ED)Een 2.8 YO 35

900 A0Y) ) (D
1.¢

2. When all outputs are normally HIGH
Q) oY) P VLIOT 30T )Y o) I



3. When all outputs are normally LOW
©Q) ©e)EIa)EIN PG GEION 0N €509 )C)

3. %
4. When two or more outputs are connected to two or more inputs
00 BE @008 J8)0) ©)D)Een Bodh B @80T S0
30200 T @00 I
4. %

Question Number : 82 Question Id : 7935232882 Display Question Number : Yes Is Question
Mandatory : No

In a parallel m/parallel out shift register, D0=1,D1=1,D2 =1, and D3 = 0. After three
clock pulses, the data outputs are ...........
ASTOSBOM B MSToSEoT ) 29 63956, D0=1,D1=1,D2=1,
SO0 D3 = 0. R HAOIRE )R ST 565, TET YYD .........

Options :

1. 1110
1. %

2.0001
2. &

3.1100
3. %

4. 1000
4, ®

Question Number : 83 Question Id : 7935232883 Display Question Number : Yes Is Question



Mandatory : No

Capacitor 1s a device used to

S0 93 DOEB0 BIE SOV AarSD?
Options :

1. store electrical energy

DN F8) e § TATETVE

1.4

2. vary the resistance
L e QBCES 538 )8

3. store magnetic energy

AN, 04 35 D § BONTTVE
3. %
4. dissipate energy
38 BHBOTE

4, ®

Question Number : 84 Question Id : 7935232884 Display Question Number : Yes Is Question
Mandatory : No

A differential amplifier
2.8 @581 AP0V NOND

Options :

1. 1s a part of an Op-amp
- Op-amp ¢ 2.& 2380

2. has one input and one output

2,8 AIDE SNOA 2,8 ©9HENE &0H



3. has two outputs
DOCD @95)Ea)EdeN o) OW

4. answers (1) and (2)
QoG (1) DA (2)

4.+

Question Number : 85 Question Id : 7935232885 Display Question Number : Yes Is Question
Mandatory : No

For an Op-amp with negative feedback, the output 1s

(BT @DTANOS 2,8 Op-amp 50, €95963:965 d?

Options :
1. equal to the mput
QAR)EIE D00

1.%

2. mcreased
, % 000H

3. fed back to the inverting input

DS ARNEE 380 HE DOHDEOE

3.¥

4. fed back to the non-mnverting input

°S-2 SQ0N BRINEZL BOA DG TDONDROE

4, ®

Question Number : 86 Question Id : 7935232886 Display Question Number : Yes Is Question



Mandatory : No

A device which converts BCD to seven segment 15 called

BCD Q o) F0EMT 370, DOET) Qb 9083 %y?

Options :

1. encoder

e DSHEE

2. decoder

3850

3. multiplexer

L EDENE

4. none of these

D3 DA 52

Question Number : 87 Question Id : 7935232887 Display Question Number : Yes Is Question
Mandatory : No

The 4-bit Gray code for decimal number 3 1s

5303 Qo 5 §H0 4-¢ 1 §6&?

Options :

1. 0111
1.4

2. 1010
2. %



3. 1110

4. 1000

Question Number : 88 Question Id : 7935232888 Display Question Number : Yes Is Question
Mandatory : No

What are the consequences of driving the LED in the form of an output function?

9T 08 S EF0E LED Q) S¢0 5O EOT H0emairen dobes?

Options :

1. Pin sources the current when made low without glowing LED

D &0 ) LED Q) 00" SE00TE 580700 T3 0e0e) )¢

2. Pin sinks the current when made high without glowmg LED

O LED BH0@ 9630 T )t D $306) 008

2. %
3. Pm sources the current when made high by glowmg LED
Lk O FPBIV EDOE (D570 LED 8065 TG )

4. Pm smks the current when made low by glowing LED
O LED 7 50° $B0E [De730 580309 D)) D 006
DN B0

4.¢

Question Number : 89 Question Id : 7935232889 Display Question Number : Yes Is Question
Mandatory : No



The full form of SIPO 1s ......
SIPO A30E), o°0 S0 ...

Options :

1. Serial-in Parallel-out

QOONO-BS D05 B-95)E

1.¢

2. Parallel-in Serial-out
D058- AS DOAND-e95H¢S

3. Serial-m Senal-out

3 % %@%5-&5 f}\}@db@-@@&%

4. Serial-In Peripheral-Out
DBOND-AS DODED-e9H&

4, ®

Question Number : 90 Question Id : 7935232890 Display Question Number : Yes Is Question
Mandatory : No

What 1s meant by the parallel load of a shift register?

2 8RB TEY D308 S 0T DEI?

Options :

1. All FFs are preset with data
€9 FF €0 T3¢ |20 BDODDF0n

1.4

2. Each FF 1s loaded with data. one at a time

1963 FF BEred S 6 00E0S08), 2.8 0 2,4¢3

2. %



3. Parallel shifting of data

L e OITOSE Ter 20O

4. All FFs are set with data
@) FF e BEred ¢ DODDF 0N

Question Number : 91 Question Id : 7935232891 Display Question Number : Yes Is Question
Mandatory : No

The group of bits 11001 1s sertally shifted (right-most bit first) into a 5-bit parallel output
shift register with an mitial state 01110. After three clock pulses, the register contam

263 11001 TT0 AOOHIT 9 10B0E (5066965065 TS D) 5-
DO D:r0esE @) 2 02908 308 HE 0110, Sk (BT
DB S0 65, 62300 $OR &0EN0G?

Options :

1.01110

2. 00001

3. 00101
3.¢

4.00110



Question Number : 92 Question Id : 7935232892 Display Question Number : Yes Is Question
Mandatory : No

What does UART stand for?
UART @0 0)ade3?

Options :

1. universal asynchronous receiver transmitter

Lo G538 @005OE 8250 (€7 )2800

2. unique asynchronous receiver transmitter
DBE €905 DE BRI (83°0 I

2. %
3. umiversal address receiver transmitter
. 03057 IO @95 BRID (637 YOS
4. unique address recerver transmitter
DSE DB BRI (87 )0 edrd
4. %

Question Number : 93 Question Id : 7935232893 Display Question Number : Yes Is Question
Mandatory : No

What does ADS indicate in 8250 UART?
8250 UART €5’ ADS o)2D AT 0E?

Options:

1. address signal
DANTN® DO



2. address terminal signal

QBT B3OSO DO
2. %
3. address strobe signal
Lo DOTE (§ES DO
4. address generating signal
QBT 2390300 DN O
4. %

Question Number : 94 Question Id : 7935232894 Display Question Number : Yes Is Question
Mandatory : No

An 8-bit sertal m/sertal out shift register 1s used with a clock frequency of 2 MHz to achieve
a time delay (td) of

A0 SO0 (1d) FOOLIENE 2 MHz 55 (55038 3-8 0HO
20/N00HO @8 A1) 0290 Gaydiriotachenod

Options:

1 % l.16ps

2.8 us
2. %

3.4 us
3.¥

4% 4-2ps



Question Number : 95 Question Id : 7935232895 Display Question Number : Yes Is Question
Mandatory : No

The problems of the bmary-weighted resistor digital-to-analog converter (DAC) can be
overcome by using

B0-300B% TR0 GEO-e0-ee7 83590 (DAC) T308) e
B G0ST0TI0 & {0 @ABDOINTD)

Options :

1. an 8-bit binary-weighted resistor DAC
8-20&3 BIO-SoerE D1WD DAC

2. aflash DAC
2,8 9" DAC

3. an R/2R ladder DAC

2,8 R/2R Qw3 ) DAC
3. ¢

4. a stamrcase DAC
4 % 2,8 & DAC

Question Number : 96 Question Id : 7935232896 Display Question Number : Yes Is Question
Mandatory : No

What 1s the resolution of a digital-to-analog converter (DAC)?

B28O-60-093¢70 £ 508 (DAC) ), BN eES?

Options:

1. %



I Tt 15 the comparison between the actual output of the converter and its expected output
30 §:3580 TE) a) @)E)E) OO TR SOTT @Y s
e

2. Tt 15 the deviation between the 1deal straight-lme output and the actual output of the

Converter
30 €3¢982:9085 e DBST @:E)ET DO 703 €6 138 s
D00 §35¢6
2. %
3. It 15 the smallest analog output change that can occur as a result of an merement mn the
digital mput
30 28 B0IE0E HOBOT A0PN0D @ed 1) T Yy
ST G20 SRS
3.¢

4. Tt1s 1ts ability to resolve between forward and reverse steps when sequenced over its
entire range
3080 500 ' H85D) T 7650 H6AN 836 RN s
H02),00% 030

Question Number : 97 Question Id : 7935232897 Display Question Number : Yes Is Question
Mandatory : No

How many different states does a 2-bit asynchronous counter have?

2-3)E5 @305°OE T0e5ES AN DS D &) 0N?
Options :

1.1



12
I

Lx 48

Question Number : 98 Question Id : 7935232898 Display Question Number : Yes Is Question
Mandatory : No

Which one is a 4-bit binary ripple counter?

4-2)e3 BO 903 T0D DE?

Options :
1. IC 7493
1. %
2. 1C 7490
2. ¥
3. IC 7491
3. %
o 4.1C 7492
4, %

Question Number : 99 Question Id : 7935232899 Display Question Number : Yes Is Question
Mandatory : No



What 1s the difference between 7490 and a 74927
7490 OO 7492 DS BGE® DDEI?

Options :

1. 7490 1s a MOD-12, 7492 1s a MOD-10
7490 @900 MOD-12, 7492 €900 MOD-10

1. %
2.7490 is a MOD-12. 7492 is a MOD-16
7490 @ DOE MOD-12. 7492 @956 MOD-16
2. #
3. 7490 is a MOD-16. 7492 is a MOD-10
7490 @ DN MOD-16. 7492 @D SE MOD-10
3. %
4. 7490 is a MOD-10, 7492 is a MOD-12
. 7490 @9cDNE MOD-10. 7492 @90 SE MOD-12
4.

Question Number : 100 Question Id : 7935232900 Display Question Number : Yes Is Question
Mandatory : No

Ring shift and Johnson counters are

BON 229) SDBATN 239 ) S0 NI
Options :
1. Synchronous counters

DO ot

1.4



2. Asynchronous counters

©H:05°OE ToON

3. True bmary counters

QRS BdO Toeot

3. %

4. Synchronous and true binary counters

O8I OO NS B T 0erdd



